FOrReVER | REDWOOD

From the Forest, For the Forest since 1995
866.332.2403 (TOLL FREE); 7am — 7pm Pacific Time, Monday-Saturday

ASSEMBLY INSTRUCTIONS FOR THE
ENSENADA WOOD EASY CHAIR




*3zIs uo bulpuadap Aipa [jim 31pmpipy JnoA Jo suoisuawiqg :3930N

[ misssssisiisssaisid

"(1eas aly) 01 pue
15213)9eq 81 01 S1saJwLe au pue Loddns sy
Yoee 01 / '1eas ay} 0} 1sanjoeq ay) Yoepe o)
s)jog .. € X .. 9T/S

‘0N

Buimeaqg

uondiiosag

1S1TT34VMAYVH

‘JU3s supd Y3 UO payIPW SIAGUINU Y3 O3 Y2IDW 10U Op 3saYy | ‘A|uo 32ua43fal 10f 3p 3]GD] SaXOg JO JUIIUO) Y3 Ul SI2qUINU 1UDd :930N

¥ h SISaIWIY Z

€ [ uoddns T

| E o |

| E h |
‘'ON Buimeaqg uondiiosag yile)

S3X04d 40 LNJLNOD

Pl 1

ENSENADA WOOD EASY CHAIR
www. ForeverRedwood.com



"JU3s $340d Y} UO PIYIDW SIdGUINU 3y 03 YIIDW 10U Op 3SaYy [ ‘AjUO 32Ua43fa. Jof 240 BUIMDIG 3Y3 Ul SI9GUINU 1D 330N

v S1Sa WY
e poddng
4 15a.0eg
T lesS

ON NOILdIFdOS3A

P| 2

ENSENADA WOOD EASY CHAIR
www.ForeverRedwood.com



Step 1: Use 5/16" x 3 %"" bolts (A) to attach the backrest (2) to the seat (1). Each part has a series of numbers that indicate where
to attach the part with the corresponding number.

5/16" X 3% Bolts

Step 2: Attach the support (3) to the seat and to the backrest with 5/16"" x 3 %" bolts (A). Each part has a series of numbers that
indicate where to attach the part with the corresponding number.

‘
~

ENSENADA WOOD EASY CHAIR
www. ForeverRedwood.com

5/16"”" X 3 %" Bolts

P|3



Step 3: Finally, use 5/16™ x 3 %" bolts (A) to attach the armrests (4) to the seat and to the backrest. Each part has a series of
numbers that indicate where to attach the part with the corresponding number.

5/16” X 3% Bolts

5/16" X 3% Bolts

ENSENADA WOOD EASY CHAIR
www. ForeverRedwood.com



This completes the Chair assembly. Hope you enjoy your set for many decades. If you ever have a problem or a question, don't
hesitate to call us (866 332 2403) or email us. We are here to support you.

P| 5
ENSENADA WOOD EASY CHAIR
www. ForeverRedwood.com



